


SA SeIEY B2
- So/l=8 ST
o |2 FSAY(SEHYMY/5Y - 5E)

gl AN o0 saxE (sl &)

SA - HH - SR(S) - MRAY - Ba ey J\ge HIDZS2
=@ B2 11,892,547 11,840,492 52,055
N TN (AL L= - =) 820,344 79,344 25,000
st 22 SFxy 527,823 502,823 25,000
AL 2 AIEE SA2el 327,797 302,797 25,000
201 LB | 221,997 196,997 25,000
01 AtR2teld| 25,000 0 25,000
OetdESEE ¢ 25,000 0 25,000
HHE2IAH (s I=3 S22 (JIEHIIED 11,072,203 11,045,148 27,055
A23d| 10,910,644 10,883,589 27,055
ol EH| 10,910,644 10,883,589 27,055
101 1244 9,849,997 9,822,942 27,055
02 JIEtA = 360,428 333,373 27,055
ORI 231,385 204,330 27,0665

b=

65,893,000 *12H+64,930,000& 1 +*5/12 92,948 65,893 27,055
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SA:

sel=d JA0A7L

HE: AOSANS FWAG AR(SHYS )
9l AIERA BESH Y TIE g
S - FH - BI(E) - HIRAR - BaS 71y
=)= A0 2,509,708 2,486,708
s 169,000 169,000
T ,340,708 2,317,708
AVSLS BHRAG AP (SYHY A 744,990 1,721,990
s 169,000 169,000
= 575,990 1,552,990
NETHA BESS 2 THHDIZ He 430,772 427,772
NEHL BESE o THHHIIZ N 2 81,343 76,343
201 B2 76,093 71,093
02 E3=2ZH| 72,652 67,652
OS EHIIA B3 B 5,000 0
Dp=ih FWE 245t 633,345 618,345
= 169,000 169,000
= 464,345 449,345
Dbt FWE2AS 2HXR 45,826 30,826
201 LB 44,826 29,826
02 S22 42,814 27,814
O24 &3 FMIIAL 22| 15,000 0
HllsstE: ARIBIES 220,736 217,736
HTAIE & ZEIE2 220,736 217,736
405 RHaHFSH| 45,736 42,736
01 AL EZF=HI 45,736 42,736
OMBA 24 Hi)] BX 2 3,000 0
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A SEII=E MU0IZHAA

M AL 012 2 THHHD 1= HE (sEad/sY - =&

EH2l: AL OIZ D= HE & OFE At (2 &)
S - BB - S9I(3) - HIRAR - BAS o8y pE-T HimE==l

=g 2 A0 EARA 1,635,060 985,060 650,000
ARZE 018 & THHHD | Y (sEiisY - =&) 1,239,393 589,393 650,000
Ol2 Jl= Mg 2 DEE dit 1,160,848 510,848 650,000
A HZ DIcHE Atk 2e|Dls g 880,054 230,054 650,000
401 AlZHIZLSOHY] 800,000 150,000 650,000
01 Al&HI 800,000 150,000 650,000
OAtI0IZ2HT A ADIE R 2= 800,000 150,000 650,000
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2N =202 Dlgks
HH: J|2sA M2 S0l

Hel: sP@lsus 24

O o
ro [2
S
0 Ho
B

S - FE - SRA(S1H) - MIRAR - o plE=L" blmz2
=)= Oldi=Sust 4,130,224 4,060,724 69,500
= 1,439,000 1,439,000 0
= 2,691,224 2,621,724 69,500
=8l M2 =20 SH(sHallYdsb s 3,184,6% 3,115,196 69,500
= 1,439,000 1,439,000 0
L= 1,745,696 1,676,196 69,500
s2|=1s 2F 1,265,700 1,265,700 0
= 992,700 992,700 0
= 273,000 273,000 0
ARsdel JxES)Isws 40,000 40,000 0
= 20,000 20,000 0
= 20,000 20,000 0
201 LB 32,500 28,000 4,500
= 16,250 14,000 2,250
< 16,250 14,000 2,250
01 AFR2el| 32,500 28,000 4,500
OUMHZE & LEt==2H| 9,500 5,000 4,500
= 4,750 2,500 2,250
= 4,750 2,500 2,250
301 LBtBEF 5,500 10,000 24,500
= 2,750 5,000 A2,250
= 2,750 5,000 22,250
09 ALAHIXIRS 5,500 10,000 24,500
OusH =4I 5,500 10,000 24,500
= 2,750 5,000 A2,250
= 2,750 5,000 22,250
o2l D= WSAMY 846,980 809,980 37,000
= 114,800 114,800 0
= 732,180 695, 180 37,000
ATEC 2 273,460 236,460 37,000
401 AIEBIZ20HYI 37,000 0 37,000
01 Al&HI 37,000 0 37,000
OATEC AFSTHTHOIE Al &XI 37,000 0 37,000
)= S8 29 50,000 50,000 0
= 50,000 50,000 0
101 1244 0 17,200 A17,200
= 0 17,200 A17,200
04 JI1tHI2Z2 S 2+ 0 17,200 A17,200
Ossasd 2 dgd 0 17,200 217,200
oJleg 0 14,560 214,560
= 0 14,560 214,560
=g & 0 1,240 A1,240
= 0 1,240 21,240
oB8Zz S 0 1,400 21,400
= 0 1,400 A1,400
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AN s&II=d DdHsSPust
54

3 DlzEA M2 S0 S8(SHVL/Y - 5E)

ohel: ahel ADIZEY DEAY GECE-ED

2N - ZH - G(3H) - MRAS - BES Oil &bk J|IEH HnsZ
201 LB 41,000 24,890 16,110
= 41,000 24,89 16,110
01 AHR2teld] 35,000 19,890 15,110
OZA=E, WIHHZE, dot=ZH| S 35,000 19,890 15,110
= 35,000 19,890 15,110
02 S22 6,000 5,000 1,000
O=Sa&E AIEEHIR XL 6,000 5,000 1,000
= 6,000 5,000 1,000
206 2l 3,000 2,910 %
= 3,000 2,910 0
01 =4I 3,000 2,910 90
ORS &2 S 2 3,000 2,910 %
= 3,000 2,910 %
301 LEtBES 6,000 5,000 1,000
= 6,000 5,000 1,000
09 ALAHIXIRS 6,000 5,000 1,000
Ousd SAH|, Ot S 6,000 5,000 1,000
= 6,000 5,000 1,000
SIHLE =& A 1,072,016 1,039,516 32,500
3 331,500 331,500 0
& 740,516 708,016 32,500
A D188 u=s 49,690 17,190 32,500
401 AIEBIZ 0] 30,000 0 30,000
01 Al&t] 30,000 0 30,000
IHWFE HMEIA SHX]| 30,000 0 30,000
405 KHAHESHI 2,500 0 2,500
01 AL EZF =S| 2,500 0 2,500
Os2IH RS2 2,500 0 2,500
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